N=FAN

EBABIWN EE 18

B - 2 HI044£03 509 b R AEBTN TS ST
Bz K % ] OUT | IN | GR | HDCP | NET e
BR (W) BRR 42| 44| 86| 18.5]| 671.5

£ B e 37| 36| 73| 4.9 681

3 |k BR 41| 43| 84| 14.1| 69.9

4 |mo B¥ 41| 40| 81| 10.1] 70.9

5 (Wil IE= 46 | 44| 90 | 17.7| 72.3

6 En = 42| 41| 8| 98| 7132

7 M FE 41| 42| 8| 95| 735

8 |mE & 43| 41| 84| 10.3] 73.7

0 | H— 43| 44| 87| 13.0| 74.0

10 |f0E K 41| 44| 85| 8.4 76.6

1 |%H* EmER 48 | 49| 97| 20.3| 76.7

12 |\#%H* @ 41| 44| 85| 7.9 77.1

13 BEE %= 43| 45| 88| 10.7| 77.3

14 K X 45 | 46| 91| 13.4| 77.6

15 =3 ®= 47| 50| 97| 18.2| 78.8

16 WA EE 49 | 43| 92| 125] 79.5

17 2 @ 46 | 46| 92| 12.5| 79.5

18 EFF & 45 | 49| 94| 13.4| 80.6

19 @ = 44| 45| 89| 7.7 81.3

20 |tE BZ 52| 50 | 102 | 15.5 | 86.5

WmMXAE HDCP

-BEIEFGL-HDCPIE-ERE LA - B LAN:2-3-4-5-7-9

11-13-14-15-16-18




